KA A
LY ba phan s0, thir tu cac phép toan

Tén: Ngay thang: Piém:
1 3
-+80+10= ——4+1=
4 2
2 1 1 3 1 3
_ X _— - = _ X _m— =
5 4 2 4 6 2
M3— 2= Sl b

3 4 5 2
2 I 1 1
—+55+11= =X =+ ==
3 4 4 4
l+11+1= Tl 3.
4 3 6 2

www.snowmath.com


https://www.snowmath.com

ba phan sd, tht tir cac phép toan

Tén

1 33 1

Z+80+10= = = 8-
4 4

2 1 1 2

_ X _— = (——=

5 4 2 (5)
22 1

24+3——= — =T7=
3

2-|-55;11—17—52

3 ' 3 3

1 4 1
4 4

Ngay thang: Diém:

3 N
7 4 1=(5)=(23)

Bl
Nl —
M| —
S| 5

Bl =
A=
A=
[E—

oxl‘”

13 4
(_3) - (_15)

W | —
N —
N W

www.snowmath.com



https://www.snowmath.com

